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ALTERNATIVE ENGLISH
Full Marks - 80
Time — 3 Hours

General Instructions :

(i)  This question paper is divided into four sections - A, B, C and D.
(ii) All the sections are compulsory. Answer all the questions.

(iii) Write the number of the question before attempting it.

(iv) Figures in the margin indicate marks.

SECTION - A (25 marks)

GRAMMAR AND COMPOSITION
1. Choose the correct answer from the options given within brackets : 8x1=8
(a) Betweenyouand he is a rogue. (1/ me)
(b) Hedid to reach home on time. (try / tried)
(¢) Neither of the girls chocolate. (like / likes)
(d) Ourteachers give us good (advise / advice)
(e) Iboughtanew fan. (sealing/ ceiling)
(f) Toerris . (human / humane)
(g) Heispoor honest. (and / but)
(h) Weather life a great deal. (affects / effects)
2. Punctuate the following : 4xY,=2

It’s very kind of you I replied
3. Make sentences using the following idioms and phrases to bring out their meanings : 5x1=5
(a) anarrow escape
(b) brought to light
(c) to fall flat
(d) to get the better of
(e) togothrough
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4. Write an essay on any one of the topics in about 120 — 150 words : 6
(a) Importance of Mental Health

OR
(®) AMoming Walk
5. Writea précis of the following passage. Give a suitable title. 4

When we survey our lives and efforts we soon observe that almost the whole of our
actions and desires are bound up with the existence of other human beings. We notice that
our whole nature resembles that of the social animals. We eat food that others have produced,
wear clothes that others have made, live in houses that others have built. The greater part of
our knowledge and beliefs has been passed on to us by other people through the medium of a
language that others have created. Without language and mental capacities, we would have

been poor indeed comparable to higher animals.

SECTION - B (20 marks)
POETRY

6. Read the extract given below and answer the questions that follow :

“And there’s another country I’ve heard of long ago

Most dear to them that love her, most great to them that know

We may not count her armies; we may not see her King

Her fortress is a faithful heart, her pride is suffering”

. (a) Thepoetis— 1

(i) Thomas Hood
(ii) Sir Cecil Spring-Rice
(iii) Michael Drayton
(iv) Joseph Campbell

HS/021 2 Contd.
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(b)  *Another country’ refers to - |
(1) England
(ii)) TheKingdom of Heaven
(iii) The neighbouring kingdom
(iv) United Kingdom
(¢) Whois referred to as the ‘King’? l
(1) TheKing of England
(ii)) God
(1ii) Angels
(iv) TheRuler of England
7. Read the extract given below and answer the questions that follow :
Thin clouds like scarfs of cobweb lawn,

Veiled heaven’s most glorious eye.

(a) Name the poem and the poet. 1+1=2
(b) Explain the above lines. - 3
8.  Write the substance of the following : 4
“Her brood gone from her,
And her thoughts as still
As the waters

Under a ruined mill.”
9.  Answer any four of the following questions : 4x2=8

(a) The poem ‘Going Downhill on a Bicycle’ is full of life, joy and adventure, yet there is
also a note of seriousness. In which stage do you find this? Explain briefly.

(b) Whatis the beauty of an old woman compared to?

(c) How does the poet express his love for his country in ‘I Vow To Thee, My Country’?

HS/021 3 P.T.O.



HS/021

(d) Explainthe lines:
“The smiles that win, the tints that glow
But tell of days in goodness spent.”

(e) What are the qualities of the ‘Kingdom of Heaven’ in the poem ‘I Vow To Thee. My
Country™ ?

SECTION - C (25 marks)
PROSE

10. Read the extract given below and answer the questions that follow : 4x1=4
“Fame coming by way of verse is the favourite example, I suppose, because it is most enduring.’
(a) Theauthoris—

(i) GK. Chesterton (ii) JBSHaldane

(iii) Hilaire Belloc (iv) Rudyard Kipling
(b) Another term for ‘fame’ is—

(i) unpopular (ii) renown

(iii) poem (iv) literature
(c) Itis most enduring because -

(i) Itcannotbend

(ii) Authorship is securely tied to a verse

(iii) It can withstand an attack

(iv) People protect it
(d) Fame cannot be acquired by —

(i) mere purchase (1) inheritance

(ii1) mistake (iv) doing nothing
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11. Read the extract given below and answer the questions that follow : 4x1=4

“When I was alive and had a human heart’, answered the statue, ‘I did not know what tears

were, for I lived in the Palace of Sans-Souci, where sorrow is not allowed to enter.’

(a) The extract is taken from —

(i) The Happy Prince (ii) The Muscular Son-in-Law
(iii) Leo Tolstoy (iv) OnFame
(b) The authoris—
(i) Hilaire Belloc (ii) Ronald Seth
(ii1) JBS Haldane (iv) Oscar Wilde
(¢) ‘Sans-Soucimeans’ — .
(i) without fear (i1) without sorrow

(iii) without care (iv) without happiness

(d) Whatkind of a life had the speaker led in the Palace ?

(i) Ugly life (ii) A pleasurable life
(iii)) Sedentary life (iv) Religious life
12. Answer any one of the following in about 100 —120 words :

(a) Illnesses make us healthier. Elaborate.

(b) Explain why the Angel chose the leaden heart and the dead bird as the two most precious
things in the city.

13. Answer the following questions in about 50 — 75 words :
(a) According to the author, whatkind of fame is the most enduring ?

(b) In the life of Tolstoy, there are two conflicting characters. What are they ?
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14. (a) Why was Nalini so restless in his office ?
(b) Who was the Happy Prince? Why was he crying ?
SECTION -D (70 Marks)
RAPID READER
15. Answer any three of the following in about 20 —30 words :
(a) What unfortunate news did David receive while at school ?
(b) Who was Uriah Heep ?

(c) Whodid David fall in love with ?

(d) Why was David locked in his room for five days ?

16. Write a brief character sketch of Agnes Wickfield in about 40-50 words.

HS/021 6
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General Instructions :

(i)  Answer all the questions as directed. Both parts of the question paper are compulsory.
(i)  Write the number of the question before attempting it.
(iii) Write the answers neatly and legibly.

(iv) Figures in the margin indicate marks.
3’ - e

y1 Fafafs s serera «te aws arefem sume $ea w1s @

@SS ¥5 GFB ATHINS A9 T IR SR TR AHF TS = | «ft @3 T ©rZam
1 Pira Taie s s w1 oo | Aefes e stemaes R e Rem s
@IST > | @ Frew TR qFoRE @ g TR wg | gewes, @bt @It GEIREGR Al
P2 A9 T ALSE ISR (UF TS TS AR | ke, wwwirws g
TCEA 7 (ATF T TS A | PO, U¥ @Ms Rewrs #7153 wwet i Froifs afsram
FAS! TACHA SAA X |

Cont TR 2118 7 IR o XG0H #ITHIE IR SIEAF | YITSrEa Wi SES We!
9% SIRATR ¥ AefiE Towsf T O w1, AW ¢ e | e fag g e

-, AR, TR, IR Toe WS MR | TIRTEE e I[WY @A 9%

P.T.O



= |

-0

81

HS/007
AL WY (TN TN | A SIRAA WA (ATF TF (LS LA ANATS: ey
TR AR oy g s wa | cren e 9o aFe 5O | | TS e

TS BN =l (ara R arars zew | A g A FACS WA 43 ARG Y G

TS TR |

(F) I SRAN WA AHhE @wsm T N 2 3
(¥) TR SR@AH Aow @A Biws @ o 2 - 3
()  SIRAF AHFR AR TR FACE 4B FRA #Y | 2
(7) a2 SRR ToAsf A wrmasH H 2 R
(¥) a% QMM TS (AT 3fore o § F AR GweE ¥4 S 2 2
frafaie stam st soo B = Wy @G < 7ot = 8 @

AR IEF — AR YR TS 5F FAM — ™% SoTSad oo s ‘ara-am’ e
oeam 778 — TITSH Y Gt G TS — G AT AT @F — i ‘qre—are’

fPermzaras (TS @A F — I[N ©LF G TS |

corara fufra farees o it ol e $etfe arers e 1 ok srafacm s wg@

: o corar et e fres / Fivem b wmaw o o | (Rrem s v wE =

i) @

“rdiae @ cETyE’ el (RITE e ThwAet 8 Worsidel’ Warw I @R seo B

*7aa sy 9 weemv  (Paragraph) (819 | ¢

HS/007 2 Contd.



¢l

9l

11

bl

a1

20|

231

At o =1 (@ @ [’= )
feor, ¥wMr, oRE, e, S

[P 7 R 71 (v cwmeent 42fd) o

farfd, sworw, Swmw, W, AR

Red sl T stfdeda =0 (v et Roafd)
(%) T o o or v W) (e )

(V) 0 A weEd = | (s )

(M F@ R w0 T wees N7 TR | (A 1)
(¥) WFTY W9 A WG & AT | (W AE)
(8) o7 =t = Ifewear =Y =z | (A Tw])
vfore S +AffesT & s

HS/007

)

b
X =
BQQ

STECRA TN AT 2= B+ | Pret s e T @} @ 9Fpl v i 2% oo,
oI @ qio A1 Tt WS «FEE @SR wedry A W sfeem |

YRS I Tfefvm =S 3

& __
Sx-i Q

I e Fferet T @vws T e 2y Sa wdia yefa wafn shre o gar TR

RTS 121

‘ore’ mewr Ft’ =wioee fon sl At F A6 <o

fFafefe wwefem we 1 &% (@ e =)

(v) B&foe / &fos

HS/007 3

d+H3+5=9

PT.0.



HS/007

‘9’ — et
vy | Fpfefte aefem Sen ws @ OXO=p
@) ‘s fowrn afrem, sl @ wire witter 27— «% 24t whe & e
%qﬂﬂaaaﬂmﬂnigﬁ_ y+3=9

(¥) ‘s 23re ke, fsrait e atE T Fhe Wkt I — @ ISt IS
@ ? TENE TPTRY FCA ATOLTT WEH ROMGGFA ACwot ARGI W | d+3=0
() ““mrem «¥ et g fEgew 1
— & 9% I I ? SfSn v | 2 3+3=9
yo! Fafafe efem Sea ws @ (@ @ 136) IXO=Y
(F) T TETR @NF (F 7 W FA AN ? (T OF D ANFAL FAGA 7 d+0+3=
(/) TR o2 FETe iR M Fo FAE TS AZEE 177 — @GN QAN @ T7E FA
ST AT ? A FoFe], WA WG ENF H I WA Coron ? S+3=0
(*) ““cu e weE frew Fed e dvm wR oE, of S9Em ErE wwie
e 17— tge wefs @ crvER weefs ? vw e e e W
FCACT ATICA (O | d+3=¢
um_ma@maﬁe@ﬂ.@aaaa“
@) “‘cz Prowr o3 I e wfRm |-
AR A P 7 (e 8 oY
it @ s, OIS, 32 O W 177
— @ P ¢ 7 W AN T e G2 @9 2 YHR=9

HS/007 4 Contd.



HS/007
) ol ew ulE, wivem o, o fim o W -

3R werre, WY ww wrw, Wi o o@ 6

- tge Wil W el (ww @ew Toww ? IHW gl TR IS JRCA WS |

=0
() ‘st s B =0
— STHA IACS IR QARG e ? Sfefha o & 2
ve | el sefe Sea s (@ oo w3@®) ¢ Ix3=8

(F) SR N (O AF TS’ | 4% TR CF, T FIE GUREA ? Fnahonm e ?

=R
(q) ““sBt firs a1’ =fzem v avw g omfa
o 5UF, Fwd FOF offEea ot 7
— oW IR @ FASE WA ? A F (@R I I ? Md=%

() Ccorer v FREm R (XATE SrRASTe &rer ~Hfaew e | oW W (@

W s T ¥R | N

so| PR saefm Sea me (@ e 72W) : Ix 0=y
(=) rerfirem wre@ T 7 o RSkam pfiwg TR IR 3 7 Y+3=0

() ““ofim erm a3y core orgw 17 — g weifp (IR AT (TF (RO Towee ?

SIwa Laria Y COTE U TR HOWe (Y | y+3=9

(o) ‘s’ stw CoTT% ¢3 7 ST Trel-TPem A $ 2 IEAIA (S (I G332 FEH FL

AR TAEA ? YH3+d=0

HS/007 5 P.T.O.



a1 () A T e Fqerwen, wow ol Rvam @ 1’

— Frwefs & 2 erwen I A @ 2 I Rvar @om F@a # 2 arwdba A
=it armes R werm == 2 3+ +3=¢

2+8=¢



Total number of printed pages — 4 HS/017
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CIVICS & ECONOMICS
Full Marks — 80
Time — 3 Hours

General Instructions :

(i)  All questions are compulsory.
(i) There are two sections, A and B carrying 40 marks each.
(iii) Write the number and sub-number of the question before attempting it.

(iv) Figures in the margin indicate marks.

SECTION -A (CIVICS — 40 marks)

1. Choose the correct answer from the options given : 5x1=5
(a) The Directive Principles are issued by —
(i) Constitution (ii) Supreme Court
(iii) Central Government (iv) None of these
(b) The President of India is elected for a period of -
(i) 4years (ii) Syears
(iii) 3 years (iv) 10 years
(c) Tobecome ajudge in the Supreme Court, a person must work at least for a period of
years in the High Court.
(i) 4years ' (ii) 2 years
(iii) 5 years (iv) 10 years
(d) The highest revenue court in the state is—
(i) Revenue court (ii) Civil court
(iii) Central Government (iv) TheBoard of Revenue
(e) The State which is not a Union Territory in India —
(i) NicobarIslands (i1)) Goa
(iii) Delhi (iv) Chandigarh

P.T.O.
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10. Distinguish between Regionalism and Regional aspirations.

11. Describe any four executive functions of the President.

What are the two evils of Casteism in India ?

What is meant by Revenue Court ?

Write down the two functions of the Vice President of India.
Mention fwo patterns of the State Government in India.
What is the composition of the Supreme Court ?

Mention three provisions regarding the administration of UT.

Describe the powers and functions of the Chief Minister.

What are the importance of public opinion in a democracy ?

HS/017

Fill in the blanks with correct answers : T>x1=7

One characteristic of the Directive Principle is —— . (not justiciable / enforcible by
court)

The budget of UT is laid before the House by the . (Chief Minister / Finance

Minister)

. (Rome / Delhi)

guarantees all the adult members to cast votes. (Universal Adult Franchise / Election
Commission)

Direct Democracy existed in city states of

The legal age of marriage is years for girls in India. (20 / 18)

Advocate General of India is appointed by in the State. (Governor / Chief

Minister)

appoints the leader of the majority party as the Chief Minister. (President /
Governor)

AR W W WOW NN N

SECTION — B (ECONOMICS - 40 marks)

13. Choose the correct answer from the options given : 5x1=5

(a)

HS/017

Net National Income (NNI) can be calculated by —
(i)  Gross National Product (GNP) (ii) Foreign Exchange
(ii1) Green NNI (iv) TFixed Capital

2 Contd.
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(b) FERA companies deal in—

(i) Gross National Product (GNP) (ii) Foreign Exchange

(iii) Cottage industry (iv) Private sector industry
(c) Smallscale industries refer to industrial unit which employ —

(i) 100 workers with power (ii) 70 workers with power

(iii) 50 workers with power - (iv) None of these
(d) Internal trade refers to —

(i) Trade with districts (ii) Foreign trade

(iii) Trade within the country (iv) Barter system

(¢) The component which is not related to social infrastructure —

(i) Education (ii) Health

(iii) Housing (iv) Hospital
14. Fill in the blanks correctly : 7x1=7

(a) is one vital objective of economic development. (To increase basic goods /

Child welfare) :
process that manages all available resources.

(b) Sustainable development is a
(short term / long term)

(c) Infant Mortality Rate refers to the average number of infants per

year. (100 / 1000)

whodieina

. (Real Per Capita Income / Capital)

(d) Standard of living is measured by

(e) is the gross market value of all final goods. (NNP / GDP)
. (uneconomical size of land

(f) Cause of low agricultural productivity inIndia is

/ water scarcity)

(g) The first Civil Aviation Department was set up in (1972/1927)
I5.  Explain the meaning of economic growth. 5
16. What are the two main problems of Indian railways. N
# P.T.O.
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17.

18.

19.

20.

21,

22,

23.

24.

HS/017
Explain the meaning of Public Distribution System. 2
Define Disguised Unemployment. 2

Describe the three major limitations of per capita income as a measure of development. 3

Mention the importance of Cottage and Small scale industries in India. 3
What are the rhree advantages of foreign trade ? 3
What is meant by Monetary policy ? Mention its important tools. 1+2=3
State the contribution of Agriculture to employment in India. 4
State the importance of road transport. )

HS/017 ‘.4
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COMMERCIAL STUDIES
Full Marks — 80

Time — 3 Hours

General Instructions :

(i)  All questions are compulsory.

(ii) Write the number and sub-number of the question before attempting it.

(iii) Figures in the margin indicate marks.

1. Fill in the blanks : Tx1=7

(@)

(b)

(c)

(d)

(e)

(f)

(g)

are the persons who buy the products or services from the organisation

for an agreed price.

Consumer Protection Act, 1986 was thoroughly revised in which became
effective from 18™ June, 1993.

Traditionally the term is used to refer to a place where the buyer and

seller meet and conduct buying and selling activities.

is non paid form of non - personal communication.

is a part of accounting and is concerned with record keeping or

maintainance of books of accounting which is often routine and clerical in nature.

The total of all debits must be equal to the total of all

The process of choosing the most suitable candidates from among the applicants for

job after carefully screening the candidates who offer themselves for appointment is

called

P.T.O.



| 3%

(a)

®)

(©)

)

(e)

(H

(2)

HS/014

HS/014 -

Choose the correct answer : Tx1=7

Each year, the anniversary of the adoption of the Declaration, 10" December, is observed

internationally as —

(i) Animal Rights Day (ii) Human Rights Day

(iii) Civil and Political Rights Day (iv) Child Rights Day

Any paid form of non- personal presentation or promotion of ideas, goods or services
by an identified sponsor —

(i) Advertising (ii) Sales promotion

(iii) Personal selling (iv) Publicity

Which one of the following is not an accounting software ?
(i) TALLY (ii). BUSY
(iii) MUNIMII (iv) GAAP
The Reserve Bank of India was set up on April 1,

(i) 1694 (i) 1913
(iii) 1935 (iv) 1934

It is an act of imparting, improving or updating the knowledge and skill of an employee
for performing a particular job.

(i) Training (i) Education
(iii) Development (iv) Promoting

It describe the relations of management with the group of employees, especially
collective bargaining or contract between the employer and Trade Union —

(i) Personal Relation (i) Labour Relation
(iii) Public Relation (iv) Customer Relation
The basic function of Trade Union -

(i) Militant function (i) Fraternal function

(iii) both (i) and (ii) (iv) None of these

2 Contd.



HS/014
3. Answer the following : 10x1=10

(a) State one basic objective of Consumer Protection Act, 1986.

(b) State the meaning of Social Security.

(c) Define selling,

(d) What is meant by sales promotion ?

(¢) Why do users need accounting information ?

(f) Define Banking.

(g) Whatis job rotation ?

(h) Define discipline.

(i) What is the full form of ILO ?

() Givean example of Indian Trade Union of Employers.
4,  State the expectations of Associates. 3
5.  Explain any three functions of channels of distribution. 3

6. Enumerate any three promotional tools used by business organisations to boost their sales.

3
7.  Explain briefly the advantages of advertising to the customers. 3
8.  Give three types of accounts generally maintained by Commercial Banks. 3
9.  List three traditional functions of Central Bank. 3
10. What are the objectives of human resource planning ? 3
11. Discuss the functional requirements of a successful Industrial Relation Programme. 3
12. State the basic objectives of MRTP Act. 4

HS/014 3 P.T.O.




13.

14.

15.

16.
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Give your opinion on how accounting could be beneficial to maintain for the users. 4

(a) State the Civil and Political Rights. 8
) OR

(b) Explain the steps taken by Government with regard to Child Rights. 8

You are a Sales Manager in a company, what procedure would you follow for making a

sale ? 8

(a) Describe briefly the advantages of internal sources of recruitment. ' 8
OR

(b) What is meant by performance appraisal ? How does it help in taking different types

of management decisions ? 2+6=8

HS/014 4
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2022
ENGLISH
Full Marks — 80
Time — 3 Hours

General Instructions :

()

(i)
(iii)
()

This question paper is divided into four sections - A, B, C and D.
All the sections are compulsory. Answer all the questions.
Write the number of the question before attempting it.

Marks for each question are indicated against it.

SECTION -A : Reading (70 marks)

Read the following passage carefully and answer the questions that follow :

Vegetarianism promotes a natural way of life. But despite its implicit message of
universal love and non-violence it has not spread, as it should have. This may be because it
usually is an inward - looking habit and is best cultivated in the mind.

Leading its vegetarian way of life helps the animal kingdom to co- exist with man.
Animals supply milk, manure and energy. This has been central to the Indian culture for
thousands of years. A vegetarian lifestyle is natural, multifaceted and helps self- preservation
in a healthy way. Food and health are closely related.

In India, a vegetarian is usually a Lacto- vegetarian. In the Western world vegetarians
are sub-divided as ‘vegans’ (pure vegetarians who do not take any food coming from animal
kingdom), Lacto - vegetarians who use dairy products and products of the vegetable
kingdom and Lacto - ova- vegetarians. The last category includes eggs, in addition to dairy
products. The western science of food considers food as something which sustains only the
human body, whereas the Indian Science considers food as something which maintains the
purity of heart. mind and the soul. Thus an item of food which is injurious to the mind is not
considered to be fit for consumption, even if it is otherwise beneficial to the body or satisfies |
the taste. Indian food science does not give so much importance to the protein or even to the
balanced diet but it gives importance to food that increases the strength of the body.

P.T.O.
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Vegetarian foods provide an infinite variety of flavours whereas non-vegetarian foods

have hardly any taste of their own, In fact, non- vegetarian foods have to be seasoned with
ingredients from the vegetable kingdom to make them palatable.

In most sports disciplines, vegetarians lead in endurance tests. “You are what you eat” is
an old saying and it is a fact that it is the food that makes the man. The food we eat, its quality,
quantity, its timing and combination is of utmost importance to healthy life. It is significant
to note that in the USA nearly 30 to 40 million people have adopted vegetarianism in the last
decade. More and more intellectuals in UK, Germany, France, Isracl, Mexico, Russia and its
former allies are gradually turning to vegetarian diets not only on ethical and humanitarian
grounds but also for health and ecological reasons.

Extensive studies by a group of Mumbai doctors have confirmed that vegetarianism
offers protection from coronary diseases. It prevents and helps the management of most of
the gastro-intestinal diseases. Vegetarians tend to have lower blood pressures. Lacto - Vegetarian
diets with their high fibre content, low acid and high vitamins and minerals preventand, to a
certain extent, relieve the pain felt with the progression of arthritis.

1.1 On the basis of your reading of the given passage, answer the following questions
briefly : 3x2=6
(a) Whatis meant by ‘vegans’ ?
(b) Mention any two health benefits of a vegetarian diet.
(c) How does Indian science consider food ?
1.2 Find words in the passage which mean the same as : 2x1=2
(a) unlimited
(b) moral principles
1.3 Choose the most suitable antonym : 2x1=2
(a) Beneficial
(i) constructive
(ii) disadvantageous
(iii) helpful
(iv) benign
(b) palatable
(i) dainty
(i1) edible
(11i) enjoyable
(iv) tasteless

HS/001 2 Contd.
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SECTION-B: Writing (15 marks)

2. @ \"cnu are Rf‘mthan_ga. Secretary of your school Science Club, Vanapa Memorial High
School. Aizawl. The school is organising a “Science Exhibition™ for | ligh School
students. Draft a suitable notice in about 50 words inviting students to participate. lnvent
all necessary details. 5

OR
(b)  Your brother Zoramthanga is getting married to Lallawmsangi d/o Lalduhawma. Your
father Rosangliana has asked You to draft a wedding invitation for the same. Drafl a
formal wedding invitation inviting friends and relatives to attend the ceremony.
(Word limit : 50 words) 3
3. You are Remsiama. Write a diary entry on your day and life during Covid - 19 lockdown
and how the pandemic affects your family and society. (Word limit : 150 — 200 words)
10
SECTION -C : Grammar (15 marks)
4.  Choose the most suitable idiomatic expression from the options given below : dx1=4
(a) My mother felt that something was going on when she saw all of us sitting
together and talking in whispers.
(i) chickened out - (ii) fishy
(iii) rooted to the ground (iv) forbidden fruit
(b) We cancelled the picnic as it was raining
(i) eagerbeaver (ii) the cat out of the bag
(ii1) catsand dogs (iv) hightime
(c) The stronger person generally gets the
(i) oddsand ends (ii) law ofthe jungle
(iii) lion’s share (iv) sour grapes
(d) The teacher pardoned the boy on the condition that he promised to
(i) turnoveranew leaf (i) take the bull by the horns
(iii) killtwo birds withonestone  (iv) let the grass grow under one’s feet
HS/001 3 P.T.O.




Combine the sentences using suitable connectors :

(a) She studied quite hard. She failed the exam.

(b)  Three months have passsed. My grandmother came to Siaha.
(¢) Idonotknow. I will manage without you.

(d) They will agree to your conditions. You could convince them.

Fill in the blanks with the correct form of the verb from the options given :

(@) Time and tide for no man.

(1) waited (ii) is waiting

(ii1) has waited (iv) waits
(b) Look! Smoke out of the window.

(i) iscoming (i1) has come

(111) come (iv) will have come
(c) He his old car and bought a new one.

(i) sell (i) wassold

(ii1) had sold (iv) havebeen selling
(d) While we football, it started to rain.

(i) areplaying (ii)) were playing

(111) had played * (iv) play

Change the voice for each of the sentences given below :
(a) One should keep one’s promises. |
(b) The people on the beach were trapped by the tide.

(¢) Close the door at once.

SECTION - D : Text book (40 marks)

Read the extract given below and answer the questions that follow :

HS/001
4x1=4

4x1=4

3x1=3

“They lack wood, fuel, water, food and fodder. They are poor and have no cash income.”

(a) Name the speaker. Who are ‘They’?
(b) Why are they poor according to the speaker?

HS/001 4
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9. Read the extract given below and answer the questions that follow :
“Help! Peta! Peta!” he cried to the girl on the bank. She stood rooted with horror.
(@) Name the speaker. Why did he cry for help ? 2
(b)  Why did Peta stand rooted with horror ? 2
10. (a) David’s story is full of courage. Explain. (Word limit : 50 — 75 words) +
OR
(b) Based onthe lesson, “Two Gentlemen of Verona’, describe how appearances can be
deceptive with reference to the two boys. (Word limit : 50 — 75 words) 4
11. Thelesson ‘The Lap of Honour’ teaches us that Murray Halberg was a great athlete with his
arm paralysed. Write in about 50 — 75 words what you think are the qualities necessary to
become a great sportsman in today’s world. 4
12

Read the extract given below and answer the questions that follow. Write your answer in one
or fwo sentences only :

“I murmur under moon and stars
In brambly wildernesses;
I'linger by my shingly bars;

I loiter round my cresses.”

(a) Who is the speaker?

(b) Pick out any two words to bring out the movement of the brook. 1

. (¢) The message of the poem is that the life of the brook is — 1
(i) temporary (ii) eternal
(iii) shortlived (iv) mortal

13. Read the lines from the poem and answer the questions that follow :
‘Short-lived as we are, our enjoyments, I see,
Have a still shorter date, and die sooner than we.’
(a) Name the poem and the poet. 2
(b) Have a still shorter date means

(i) Human span of life is shorter than the brook

(i) Human pleasure and enjoyment is shorter than a human being
(iii) The brook is much happier than man

(iv) Man has a shorter life and is mortal

HS/001 | 5 P.T.O.
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14. (a) Whatmessage does the poet wishto convey through the poem ‘Be the Best™?
(Word limit : 50 — 75 words) 4
OR
(b) How does the poet of ‘The Poplar Field’ link up the idea of the cut down poplar trees
with the end of human life and pleasures ? (Word limit : 50 — 75 words) 4
15. Read the extract given below and answer the questidns that follow :
(a) ““Wehave had an awful incident at the college , St Luke’s, and I am at a loss about what to do™.
(i) Who is the speaker ? Who is he speaking to ? 2
(ii) Describe the ‘awful incident’. 2
OR

(b) “Iamindeed pleased to hear that you did not intend to take advantage of the situation,
but why did you change your mind ?”

(i) Whois the speaker ? To whom is he speaking ? 2
(ii) What had made him change his mind ? 2
16. (a) Inthestory ‘The Paper Plague’, what disaster struck the world that night ?
(Word limit : 50 — 75 words) :- 4
OR
(b) What made Miss Wilson’s father become mentally disturbed ? 4
(Word limit : 50 — 75 words)

17. (a) Helen Keller compared her life before education to

(i) aship in a dense forest (ii) ashipinadense fog
(iii) ashipin a deserted island (iv) asounding-line
(b) Inthelesson ‘The Paper Plague’, music was saved by 1
(i) Microfilm (i) Slate
(iii) Gramophone record (iv) Projection camera

HS/001 6 Contd.
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18. (a) Inthestory “The Merchant of Venice’, if Portia had not taken the place of a lawyer in

(b)

HS/001

disguise, the story could have ended differently. Think of other possible endings and

write the last part of the story in your own words. (Word limit : 50 — 75 words) 4

OR

Under the guidance of her teacher and her strong willpower, Helen Keller became one
of the most influential persons. What do you think is more important in shaping Helen's

future, her willpower or the guidance of her teacher? Or both ? Support your answer in
about 50 to 75 words. 4
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HOME SCIENCE
(Theory)
Full Marks — 70
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General Instructions :

(i)  All guestions are compulsory.
(ii)  Write the number and sub-number of the question before attempting it.

(iiiy Figures in the margin indicate marks.
1.  State whether the following statement are True or False :
(a) Increase in height and weight is known as Motor Development.
(b) Development is always from centre to outside.
(c) Washing soda is used to soften laundry work.
(d) Deficiency of Iron cause night blindness.
(e) AGMARK is put on all electrical goods, chemical, toys etc.

2. Fillinthe blanks :

HS/015

5x1=5

6x1=6

(a) Fear, angerand loveareallsignsof_______ (emotional / social) development.

(b) Language is a form of communication in which__ are used to pass to other

people. (sounds / words)

(¢) Social development includes learmningtolive . (isolated / in groups)

(d) Moneyisamajor—_____(non human/human) resource.

(e) Menneedmore _________ than women. (protein and energy / fat and energy)

(f)  While making a purchase, insiston gettinga_______ (receipt / cash-memo)

P.T.O.



-

(a)

a

HS/015

Answer the following questions in on¢ or {wo sentences : 10x1=10

What is meant by Baby language ?

(b)  What is Social development of a child ?
(¢) Whois aconsumer ?
(d) Whatis Meal Planning ?
(¢) Whatis Balanced Diet ?
(f) What is meant by Food Hygiene ?
(g) Whatis meant by Adulteration ?
(h) What is meant by Resources ?
(i) What is meant by Deficiency Diseases ?
(j) How will you remove old tea stain on white cotton fabrics ?
4.  Answer the following questions : i 10x2=20
(a) Whatis "Emotional development" ?
(b) Why is play important for child development ?
(¢) What are Human-resources ?
(d) Mention two characteristics of resources.
(¢) Why is it important to generate additional income ?
(f) Name the agency which can help you if you have been cheated by a shop-keeper.
(g) Whatisastain? How will you identify a stain?
(h) Why should very dirty cotton fabrics be soaked ?
(i) Whatis Impulsive buying ?
(j) What is the importance of adding a few drops of vinegar or lime juice in the last rinse

HS/015

while washing silk-fabrics ?
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5. Answer the following questions : $%3=15

(a) Write the functions of food.

(b)  Write the equipment required for proper storage of food.

(¢) Compare how play influence on physical and emotional development of children.

(d) Write the importance of money in human resources.

(e) (i) Whydoyouneed Saving?

OR
(ii) State the importance of '[nvestment'.

6.  How does video play an important role in the life of a child upto 3 years of age. 4
7.  Write the advantage and disadvantage of tailor-made garments. 5
8. - Write any five precautions that should be taken while laundering woollen garments. 5
HS/015 3
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INTRODUCTORY INFORMATION TECHNOLOGY
(Theory)
Full Marks - 30

Time - 12 Hours

General Instructions .
(i)  All questions are compulsory.

(i) Write the number and sub-number of the question before attempting it.

(iii) Marks for each question are indicated against it.

1. Fillinthe blanks :

model.

(a) The World Wide Web works on the
(b) The important functional parts of a Design View Window are Field
Properties.

(c) The element adds a carriage return at the location of the tag.

(d) Each row of information in a table is called
element is used to insert horizontal lines.

(e) The

2. What protocol is used to upload and download files over the internet ?

3. What is the purpose of the <STRIKE> element ?

4. Whatis a Primary Key ?
5. What is the use of the HREF attribute ?

6. Differentiate between container elements and empty elements.

HS/016

5%1=5

and Field
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1L
12.
13,
14.

What is Internet 2 ?

What is the function of ALT attribute ?

Differentiate between <SUB> and <SUP> elements.
Differentiate between data and information.

Explain any two style tags with examples.

Describe any three attributes of the <IMG> element..

How many data types are there in MS Access ? Explain any four of them.

Describe in detail how email software works.

HS/016 2
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2022
MATHEMATICS
Full Marks - 80
Time - 3 Hours
General Instructions:
(1) All questions are compulsory.

(ii)  Figures in the margin indicate marks.

(iii) In question on construction, the drawing should be neat and exactly as per the given
measurements.

()
1.

Use of calculator is not allowed.

Choose the correct answer : 24x]1=24
(@) Aspeed of 9km /hris the same as —

(i) 2mss (ii) 2.5m/s

(iii) 4 m/s (iv) 4.5m/s

(b) “A’and ‘B’can do a piece of work in 6 days. ‘A’ alone can do it in 10 days. What time

()

(d)

will ‘B’ require to do it alone ?

(i) 30days (i) 25days

(iii) 15 days (iv) 16 days

A and B together can do a piece of work in 12 days, while B alone can finish it in 30
days. The work done by A in one day is —

M 5 ) &

(i) 3—10 (iv) T".0.

If a and B are the zeroes of p(x) = ax® + bx + ¢ (a # 0), then a+Bis -
M -2 i) -2

(iii) g (iv) %

P.T.O.



(e)

(D

(2)

(h)
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The additive inverse of x+3 is —

x_
) x-3 . x—7
0 37 i) 33
. x+3 ' x+3
(1i1) 17 (iv) =7

The discriminant of the quadratic equation 33x2 +10x++/3 =0is -

(i) 8 (i) 64
) 1
iii) — V) —=
(ii1) \6 (iv) 3-J§
If the n™ term of an AP is 6n + 2, then the common difference is —
i 2 (i) 4
(iii) 5 (iv) 6

In the given figure, DE || BC, 3—3— = %andAE =4.8 cm, the value of EC is -
A

(i) 2.4cm (ii) 3.2cm
(iii) 4.2cm (iv) 2.2cm /D E\
B C

D
In the given figure, chords
AB and CD intersect inside the circle,

10
the measure of x is — A tm
(i) 6.5cm (i) 7.5cm 15 cm

; B
(iii) 10.5 cm (iv) 5.5cm &
2 Contd.
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(k)

(M

(m)

(n)

(o)

(p)

HS/002

HS/002
A man goes 8 m due cast and 15 m due north, then the distance of the man from the

starting point is -

(1) 13m (1) 17m

(i) 2l m (iv) 25m

The point (3, —4) lies in the -

(i) Iquadrant (ii) I quadrant
(iii) III quadrant (iv) [V quadrant

In rectangular coordinate, centre of a circle is at the origin, then the distance of a point
(3, 4) on the circle from the centre is —

() 2 units (ii) 3 units

(1ii) S units (iv) 6 units

If C[%A)is the midpoint of the line segment joining the points A ( — 6, 5) and
B (-2, 3), then the value of ‘a’ is —

@ =13 (i) 12
(iii) —4 (iv) 4
tan 5°. tan 25°. tan 60°. tan 65°. tan 85° is equal to —
1 .

O 7 (i) 3

i L
(111) 3 3
7 tan* A -7 sec? A is equal to —
i) 7 (i) -7
(iii) 1 : (iv) 0
[fthe arca of a circle is double its perimeter, then the radius of the circle is —
(i) 2 units (ii) 3 units
(ii1) 4 units (iv) 5 units

3 P.T.O.
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(r)
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®

(u)

W)
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The area of a ring whose outer and inner radii are 8cm and 6¢m is —
(i) 66 cm’ (i) 77cm?
(iii) 88 cm? (iv) 99 cm?

A cube of side 6 cm is cut into a number of cubes each of side 2 cm. The number of

cubes formed is -
H 6 (i) 9
(ii1) 27 ' (iv) 12

If ‘r’ is the radius of a hemisphere, then the total surface area is—

i) 2nr (i) 3nr
(i) 5 nr? @ 2xr

A toy is in the form of a cone mounted on a hemisiahere of common base radius 7cm.
The total height of the toy is 31 cm, then the slant height is equal to -

(i) 38cm ' (ii) 24 cm
(iii) 10 cm (iv) 25cm

A letter of English alphabet is chosen at random. The probability that it is a letter of the
word ‘SYMPTOMS’ is—

) 8 gy, D
(1) 2% (ii) =
. 5
(iii) %% (iv) 'l
In the given figure, (XNY)' is X U
(i {57} Gi) {1,2,3,9}
(iii) {11,14,15} (iv) {1,2,3,9,11,14,15}
4 Contd.
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(x)

(a)

(b)

(©
(d)
(e)
(H

(8)
(h)
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Answer the following questions :

HS/002
If A={x.xis an odd integer} and
B= {x:xis an even integer}, then

ABis —-
(1) {o} (i) ¢
(i) A - (iv) B

In a class of certain school, 50 students like Maths, 42 like Science and 24 like both

the subjects. The number of students who like any one of the two subjects is —

(1) 116 (i) 92

(i) 74 (iv) 68

10 x 2=20

Aand B can do a piece of work in 12 days, B and C in 15 days, while A and C can finish

in 20 days. In how many days will A alone finish the work ?

3x% 27

— to the lowest term.
2x*-5x-3

Reduce

Find the value of k’ for which the roots of 9x*+ 8kx + 16 = 0 are real and equal.
Which term of the AP 3, 8, 13, 18 ... will be 55 more than its 20" term ?

Prove that an angle in a semicircle is a right angle.

Two poles of heights 7m and 13m stand on a plane ground. If the distance between the
feet of the poles is 8m, find the distance between their tops.

In what ratio does the point P (2,-5) divide the line joining A(-3,5) and B (4, -9) ?
Iftan 20 = cot(9—18°) where 20 is an acute angle, find the value of 6.

The diameter of a copper sphere is 6 cm. The sphere is melted and is drawn into a long

wire of uniform circular cross section. If the length of the wire is 36 c¢m, find its

radius.

5 P.T.O.
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() The following table shows the expenditure incurred in the construction of a house.

Item Bricks | Cement | Steel [Labour

Expenditure (in %) | 20% 25% 15% 40%

Draw a pie chart for the above data.

The cash price of a washing machine is Rs. 15,000. Mawia agrees to pay Rs. 2,000 in cash
followed by two equal half-yearly instalments. If the rate of interest charged be 16 % p.a,

compounded half yearly, find the value of each instalment. 3
Find the HCF and LCM of the polynomials 3x° - 24 and 2x*-x—6. 3
(a) Prove that the opposite angles of a Cyclic Quadrilateral are supplementary. 3
OR
(b) AB and CD are two chords of a circle with centre O, which when produced meet at a
point P such that PA =PC. Prove that AB = CD. | 3
(a) Prove that the points P (-3,0), Q (1,-3) and R (4,1) are the vertices of a right isosceles
triangle. 3
OR
(b) IfA(5,-1),B(-3,-2)and C(-1,8) are the vertices of A ABC, find the length of median
through A and the coordinates of the centroid. 3
Prove that : (1+ cot @ —cosec8)x(1+tan 8 +secd) = 2 3

A straight highway leads to the foot of a tower. A man standing at the top of the tower observes
a car at an angle of depression 30°, which is approaching the foot of the tower with a uniform
speed. Six seconds later, the angle of depression of the car is found to be 60°. Find the time
taken by the car to reach the foot of the tower from this point. 3

A circus tent is cylindrical up to a height of 3 m and conical above it. If the diameter of the
base is 105 m and slant height of the conical part is 53 m. Find the cost of canvas requiredto

make the tent at the rate of Rs. 80/- per square meter (take 7 = 27_2) . 3

HS/002 6 Contd.
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10. Solve the following system of lincar equations graphically : 5
x+2y=5and 2x -3y=—4
Shade the region bounded by these lines and the X-axis.

I1. (a) Using ruler and compass only, construct a triangle ABC in which BC =6 cm, 2 A=60°

and the altitude through A is 4 cm. Write the steps of construction. 5
OR

(b) Draw a circle of radius 3.2 cm. Take a point P at a distance of 6 cm from the centre of'the

circle. Without using the centre of the circle, draw two tangents to the circle from the

point P. Write the steps of construction. 5
12. Find the arithmetic mean from the following frequency distribution table : 5
Class Interval | 0-10 | 10-20|[20-30 |[30-40 |40-50 |50-60
Frequency 6 9 14 12 19 10

Also, find the mode using empirical formula if the median of the above data is 35.

HS/002
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Hriat turte :
(i) Zawhna zawng zawng hi chhan ngei ngei tur a ni.

(i) Zawhna tin mark put zat chu a zawnah tarlan zel a ni.

(iit)  Chhan dawnin zawhna nambar ziah zel tur a ni.

THEN KHATNA-HLA (78 Marks)

I. A dik zawk hmangin dah khat rawh : 3x1=3
(a) Theithchangse —_ atan. (kumkhua/ kumtluang)
(b) ‘Tawnglehhianka_—______ ném maw. (mawi/ ring)
(¢) Kawltutihawmziachu_______ani. (tuboh/ tuthlawh)
2. (a) A hnuaiahlathu hi Mizo tawng tluang pangngaiin dah rawh : 2
Chung tira niaw a liam zan tlaiah,
Siangah an lawi, mi hrailéngle zawng,
(b) *Chhdlkhatkual’ tih hla phuahtuin kan hnam himna tur nia a sawite kha han sawi teh. 2
3. (a) Ahnuaiahlathuhiatobula chhuiin hrilhfiah rawh : 3

Hai ang tar khua rei én lai hril changa,
Lung tum loh léng Vuaia te i tih rénga’n.
(b) ‘Aw Lalpa, Davida leh a thlah Arsi’ tih hla phuahtu sawi la, khawiah nge Lalpahming faka
a zai dawn ? Thingthia a thlir tur kha eng nge ? 1+1+1=3
4. *Zofateinpumkhatna’ tih hla phuahtuin kan ram hi eng tiat nge atih ? ‘Lung a dam lo thinlai a

né’ a tih chhan hi sawi la, a lung damna tur nia a sawi chu tar lang bawk rawh. 1+2+2=5

P.T.O.
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THEN HNIHNA — THU (78 marks)

Kualkhung chhunga zawhna ang zelin chhang ang che: 5% 1=5
(a) Motor car kan neih hma theihna chhan chu Orville Wright-a/Karl Benz-a peih em vang
ani. (A dik zawk thlang rawh)
(b) Mi_____andam reingai lo. (Mizo thufing in zir angin dah khat rawh)
(c) Israel/ America/Burmaram phei chu tihluihnaa hmeichhia sipaia lakna ram a ni.
(A dik ber thlang rawh)
(d) Chappui chu vahchap ; lo atan an vah phoro laia ni. (A dik nge dik lo sawi rawh)

(e) Ching (A modified form-in dah rawh)

‘Kei ka pianna Mizoram’ tih ziaktuin, thlaler laka min daidangtu a tih kha eng nge ? Kan

enkawl dan tur a tih kha sawi bawk rawh. 1+1=2

(a) Ruihhlo ngaihna laka invenna tha leh him ber khaengngeni? ‘Rélaliane!!’ tih ziaktuin

ruihhlo a sawifiah dan kha han sawi teh. 1+2=3

(b) ‘Nunkawng’ ziaktuin hlawhtlinna déltu lian tak pakhat a tih kha eng nge ni sawi la, hring
nun kawng chhuk leh chhova kan kal laia kan hriat tur pawimawh kha engte nge ni ?

| 142=3

Zawlbuk saknaa tel ve ngai lo kha tute nge ? Tlangval tlawmngai leh huaisen zualte kha zawlbuk

khawi iaiah nge an nghar mut thin ? Zawlbuk hi rorelna hmun a nih thin dan han sawi teh.
1+1+43=5

THEN THUMNA — GRAMMAR (12 marks)

(a) Adverb thenkhat negative chauhva hman rem bik leh affirmative chauhva hman rem bik

pakhat ve ve sawi la, a tifiah turin thu phuah ve ve rawh. ' 1+1=2

(b) Transitive verb leh Intransitive verb sawifiah la, a tichiang turin entirna pe ve ve rawh.
| | 1+1=2
Kualkhung chhunga a dik zawk hmangin ziak tha rawh: 2x1=2

(a) Zawhteavaw_______ringawtmai. (hlum/thi)

(b) Rulinachua,a______ nawn leh hlauh mai. (chu/chuk)

HSI005 ) Contd.
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A dik ber thlang chhuak rawh : 2%x1=2

(a) Thillachiang lo, a chin hriat loh sawina chu (a phuk a phak hre lo / aranaranalo / chala
phung tawp)
(b)  Thing tlu kar nun tih awmzia chu (ngil taka mu thlap / theihtawp chhuah / thi si lo, hmasawn

bawk si lova nung ve hram hram)

12. A karawlte hi tawngkam dik zawkin dah khat rawh : 2x1=2
(a) Hmanlaichuanlawngan________ thin. (tuk /tu)
(b) Thlatharahexamka________ ang.(bei/pe)
13. Mizo tawng ziak dan dik thlang la, ziak tha rawh : 2x1=2
(a) Inkhawm apiangin hlabu/hla bu ken tur.
(b) Ithilsawi chu ka bangbo /bang bo hle mai.
THEN LINA - LEMCHAN (6 marks)
14. Kualkhung chhunga a dik ber hmangin a kar awlte hi dah khat rawh : 3x1=3
(a) ‘Kaintihveiviau pawh ka hre nabawk hek 1o’ tihsawituchu__________ani. (Hrilmawii /
Ramliana / Rothangliana)
(b) A vahan lawmawm dawnem, ka fanununnai______ dawn a nih chu. (chhan him /
chhan dam / chhan chhuak)
(¢) Lalnghaklianapahmingchu_________ ani.(Lawmthanga/Lungliana/Liandawla)
- 15. “Min tanpui theih chuan, dawrkai hnena thil kan va leia an lawm viau ang hian an lawm tlat”.
He thu sawitu hi tu nge ? Eng ang mi nge a nih sawi bawk rawh. 14+2=3
THEN NGANA - THAWNTHU TAWI (5 marks)
16. A chhanna dik ber thlang chhuak la, a kar awlte hi dah khat rawh : 2x1=2
(a) Kapkimaruangchu______ahan zz;lh a. (kawmchar / pathlang / kawt)
(b) Tualte vanglaih thawnthua tlangval hotu hming chu ________ a ni. (Zahrawka /
Rualtinkhuma / Zathuama)
I7. Tualte khuaa Chapchar kut an hman dan kha tawi kim takin han sawi teh. 3
HS/005 . 3 ‘
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THEN RUKNA - CHHIAR (5 marks)

18. A hnuaia thu hi ngun takin chhiar la. a thu behchhanin a tawpa zawhnate hi chhang ang che :

Favang a lo thlen hian varak lian chi te thlasik tlan san turin chhim lam panin a rualin an
thlawkho thin a, Science zir mite chuan engvangin nge a ruala V-anga an thlawh kher thin tih
an chhui chhuak tawh a. An thla theuh a ruala an zah hian an hnung chiah amite kha dawm kanna

alo pe thin a nih chu.

Chutianga V-anga an thlawh lai chuan an zinga mi chu lo awm hrang palh ta se, amah
chauha thlawh chu a hahthlak a ti vat thin a, V- anga thlawk turin a insiam tha leh vat thin.

V- anga a thlawh phawt chuan a thiante dawmkannain awlsam takin a thlawk leh thei thin.

A hmasa ber a mi a lo hah chuan a hnung lamah a thiante dawmkanna hmang turin a

insiam rem thin. Hna hahthlakah chuan inchhawk dial dial hi a hahdamthlak thin a ni.

Chutianga an thlawh lai chuan, a hnung lama mite chuan hram riin chak taka thlawk zel

turin an rawn fuih thin.

| A tawp nan leh pawimawh ber chu - mi tuin emaw chutianga an thlawk lai chu lo kap
hliam palh ta se, hliam tuar chu leia a tlak nat loh nan pahnihin an rawn tanpui vat a, an thla ve
ve chuan an dawm 2, lei an thlen hnu pawhin an la veng zel thin. A hliam tuar chu a dam leh hma
loh chuan an awmpuia, an nghak thin. Dam chhuak lovaa thih chuan, an pahnihin a rualin an

thlawk chhuak mai thin, a nih loh leh pawlho dang an lo nghak mai thin.

Zawhnate :
(a) Engvangin nge varak lian chite kha chhim lam pana a ruala an thlawh thin ? 1
(b) Hnahahthlak thawha hahdamthlak kha eng nge ? 1

(c) Varak lian a ruala thlawk thinte zingah a hnung lama mite thiltih pawimawh tak kha eng
nge? 1

(d) Varak rual zingah hliam tuar dam chhuak lova a thihin engtin nge an buaipui thin? 2
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THEN SARIHNA - ZIAK (8 marks)

A hnuaia thupui i duh zawk zawk hmang hian thumal 200-250 vel hmangin essay han ziak teh : 5
(a) Tuihnahumhalh
(b) Thianghlimna

Khawnuam Village [evel Task Force Secretary, Lalsanga i ni a. In veng huam chhunga mipuite
hnena hripui leng chung changa inven fimkhurna tur leh veng mipuite khuahkhirhna tur hriattima

thuchhuah han siam teh. 3
THEN RIATNA - RAPID READER (8 marks)

Khawnglung khaw awmna leh a ram leilung pian hmang sawi teh. 1+1=2

1+2=3

Thangi tana rohlu tak ai pawha hlu zawk kha sawi la, a chhan sawi bawk rawh.

Fungkah dai puk pakhata an riah zana Chala’n, “Zanin hi lawi that zanah i hmang ang aw 7" atih
3

khan Thangi’n engtin nge a chhan ?

HS/005
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General Instructions :

(1) All questions are compulsory.

(i)  Figures in the margin indicate marks.

(iti)  Write your answers neatly and legibly.

(iv)  While attempting a question, write the question number as given in the question paper.
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General Instructions :

(i)  All questions are compulsory.

(i) All diagrams should be drawn neatly.
(iii) Write the number and sub-number of the question before attempting it.

(iv) Figures in the margin indicate marks.

SECTION - A (PHYSICS) 24 Marks

1. Choose the correct answer : 6x1=6

(a)

. (®)

()

(d)

The colour of the sky is blue due to the —
(1) dispersion of light (ii) scattering of light
(ii1) reflection of light (iv) refraction of light

When a coin is placed in a glass tumbler filled with water, it appears slightly raised
above its actual position due to —

(i) the property of a coin (i1) disturbances

(iii) refraction (iv) reflection

When a ray of light passes through a glass, it suffers —

(i) two reflections (i1) one refraction

(iii) two refractions (iv) three reflections

Which of the following is not the unit of energy ?

(i) Joule (ii)) Kwh (i1i)) Kws (iv) Kw

P.T.O.
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I the potential difference s doubled to the « arrent Howing through a conductor, the

current will he

(1) same (1) doubled (111) tripled (iv) quartet

The rule used to find the direction of force on a current carrying conductor in a magnctic
field s -

(1) Maxwell's thumb rule (ii) Fleming's left hand rule

(1) Fleming's night hand rule (iv) Clock rule
2 Name a mirror that can give an erect and enlarged image of an object. l
3 Why are danger signals red in colour ? -
4 Give nwo differences between conductors and insulators. 2
S (a) Whatis dispersion of light ? Why do different colours deviate differently in the
prism ? 142=3
OR
(b}  Define the term refraction of light ? When a person holds a mirror close to his face,
a diminished image of the face is seen. What type of mirror is this ? 2+1=3
6 (2) Withthe help of aray diagram, determine the nature, size and position of the image
formed by a convex lens when the object is beyond 2F; . 1 Ya+Ya+Ya+14=3
OR
(h) With the help of a ray diagram, determine the nature, size and position of the image
formed by a convex lens when the object is placed at 2F, . | Va+Ya+Ya+1s=3
() Three conductors of resistance 3 Q,4Qand 6 Q are connected (i) in series and (11) In
paralle], Calculate the effective (equivalent resistance) of each combination.
1 Ya+1la=
OR
An electric motor takes SA from 220V hne. Determune the power of the motor and

HS/003

the encrgy consumed 1in 2hrs | Vat ] 4=3
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14241 =4
OR

(b)  Describe an experiment to show that the current carrying wire placed in a magnetic
field experience a force with a diagram. 3+1=4

SECTION - B (CHEMISTRY) 23 Marks

9.  Choose the correct answer : 5x1=5

(a) Which of the following metals is most reactive and stored in kerosene ?

(i) Iron (i) Gold (iii) Copper (iv) Sodium
(b) Which one of the following is the formula of baking soda ?
(i) Na,CO, (ii) NaOH (iii) KHCO, (iv) NaHCO,
(c) Which one of the following solutions will turn red litmus to blue ?
(i) Lemon juice (i) Aceticacid
(111) Hydrochloric acid (iv) Sodium hydroxide
(d) Which ofthe following is not a saturated hydrocarbon ?
(1) Ethane (ii) Ethene (iii) Butane (iv) Pentane
(e) Alcohols are produced by the hydration of -
(1) alkanes (ii) alkenes (111) alkynes (1v) acids
10. An element has 6 electrons in the valence shell. Will it be a metal or a non-metal ? 1
11. Whatis an Allotropy ? 1
12.  What changes will you observe if you test soap with a red and blue litmus paper? 1
13.  How does the atomic radii and metallic character vary across the period and down the group ?

~

14. What js the chemical name of Bleaching powder ? Write the chemical equation for its

preparation.
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W hat will happen it a strip of Zing is immersed in a solution of copper sulphate ? 2

Give amy rwo advantages of detergents over soaps for washing clothes. 2

(a)  Write rhree points of differences between the physical properties of metals and

non-metals. 3

OR

(b) A compound which is prepared from gypsum has the property of hardening when mixed

with proper quantity of water. Identify the compound, write the chemical equation of

its preparation. Mention one important use of the compound. 1+1+1=3

(a) What is Rancidity ? State any three ways to reduce / retard rancidity. 1+3=4

OR

(b) (i) Name three elements that have a single electron in their outermost shell.

(i1) State Modern Periodic law.

(iii) What are the fwo criteria used in the development of Modern Periodic table.
1+1+2=4

SECTION - C (BIOLOGY) 23 Marks
Choose the correct answer : 3Ix1=3
(a) Akind of nutrition in which organism feeds on dead and decaying matter is called -
(i)  autotrophic (i) holozoic
(iii) saprotrophic (iv) parasitic
(b) Inplants, water and minerals are transported by —
(i) xylem (ii) phloem
(ii1) sieve tubes (iv) companion cells
(¢) Blood is poured into right atrium by ~
(1) Venacava (11) Pulmonary vein

{ii1} Pulmonary artery (iv) Capillaries
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24.

25.

26.
27.
28.
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Where does the dark reaction of photosynthesis occur in a chloroplast ? 1

What is the term for ‘beginning or commencement of menstruation at puberty in females” ?
]

What will be the sex of the embryo if an egg is fertilised by the sperm having ~ 'a+%=1
(a) 22+¢X and (b) 22+Y composition ?
What is meant by Parasite and host ? 1+1=2

What is meant by the term ‘Environment’ ? Name two major compohents of an ecosystem.
1+ %+Y4=2

(a) How does excretion take place in a plant ? 3
OR

(b) Describe the flow of blood inside the heart during heart beat. 3

Define Heredity. How is the chromosome number restored in a zygote ? 14+2=3

Mention any three general practices that may help in protecting our environment. 3

(a) What is Pollination ? Differentiate between self-pollination and cross pollination.

1+3=4

OR
(b) (i) Name the surgical methods of birth control in human females. 1
(ii) Describe the ovarian cycles in females. 3
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2022
SOCIAL SCIENCE
Full Marks — 80
Time — 3 Hours
General Instructions :

(i)  Answer all the questions.
(i) Write the number and sub-number of the question before attempting it.

(iii) Figures in the margin indicate marks.

INDIA AND THE CONTEMPORARY WORLD -l (24 marks)

1.  Answer the following questions briefly : 4x1=4
(a) What is the other name given to the Italian Unification Movement ?
(b) When was the kingdom of Poland created ?
(c) Whatis the meaning of ‘Purna Swaraj’ 7
(d) Name the first cotton mill in India.
4x1=4

2.  Choose the correct answer :
(a) Inpre-19' century Europe, social, political and economic power rested in the hands

of -

(i) peasants (ii) aristocrats

(iii) traders (iv) educated middle class
(b) Balkan is a Turkish word meaning—

(i) mountains (ii) sea

(iii) race (iv) groups -
(c) Thespinning wheel in Swaraj flag represents —

(i) Ahimsa (11) Satyagraha

(iii) self - help (iv) unity
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(d) Which ofthe following helped in the expansion of the Indian Industries?

(i) Indigo Revolt (ii) Bardoli Satyagraha
(iii) Civil Disobedience Movement ~ (iv) Swadeshi Movement
3. Why did industrial working classes not participate in the Civil Disobedience Movement? 2

4.  Explain how the Silk Route is a good example of pre-modern trade among different countries

of the world. 2
5.  Whatis EFTA? Why was it formed ? 2
6. Write any three points on why the handicraft industry was overshadowed by industrial

development. 3
7.  Write any three advantages of the Bretton Woods System. 3
8. (a) Why wasthe Non-Cooperation Movement called off by Gandhiji? State four reasons.

4
OR
(b) Describe Jallianwala Bagh Massacre. 4
INDIA -RESOURCES AND THEIR DEVELOPMENT (27 Marks)

9.  Answer the following questions : 5x1=5

(a) Define soil erosion.

(b) Whatare endangered species ?

(¢) Whatis limestone ? |

(d) How are minerals classified ?

(e) Whatisaport?
10. Choose the correct answer : 4x1=4

(a) TheResources that are found everywhere and can be used easily by all are called -
(i) Renewable resources (i) Ubiquitous resources

(iii) Localised resources (iv) Potential resources
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12.
13.
14.

15.

16.
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(b)  Shifting cultivation is also known as —

(1)  Slash and burn agriculture
(11) Hash and fire agriculture
(1i1) Slash and fire agriculture
(iv) Slash and hash agriculture
(¢) Oldest coal mine in India—
(1)  Jharia (Jharkhand) (i) Kantapalli(Andhra Pradesh)
(ii1) Kamptee (Maharashtra) (iv) Raniganj(West Bengal)

(d) Mathurahas an-

(i) inland pipeline (ii) coastal pipeline

(iii) navigable pipeline (iv) unmetalled pipeline
How do forests purify the air we breathe ? 2
Distinguish between conventional and non- conventional sources of energy. 2
What are the problems faced by railways in India ? 2
Explain the three stages involved in resource planning. . 3

(a) What are the geographical conditions required to grow cotton? Mention one leading

producer state in India. 3+1=4
OR .
(b) What is the significance of the Green Revolution on Indian agriculture ? 4
Draw an outline map of India and insert the following : 2+Yi+ Vot Yot Yot ot V=5
(a) R.Kaveri (b) Lengpui airport (c) BhakraNangal Project
(d) ChilkalLake (e) VindhyaRange (f) Kaziranga
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DEMOCRATIC POLITICS -1l (12 Marks)

Choose the correct answer : 3x1=3
(a) How isIndia described in the Constitution of India ?

(1)  Aunion of states (ii) A federal state

(1i1) A unitary state (iv) A unitary and federal state
(b) Anti-Arrack Movement was led by women in —

(i) Assam (i) Maharashtra

(i11) Haryana (iv) AndhraPradesh
(c) The CPI(M) opposes—

(i) Democracy (ii)) New Economic Policies

(iii) Secularism ' (iv) Leftist views
Mention two reasons why political parties are essential to the democratic process. 2
Describe the unique features of democracy.
(@) Whatdoyouunderstand by ‘horizontal sharing of power"? 4

OR

(b) Whatis the difference between a holding-together and a coming - together federation?

4
UNDERSTANDING ECONOMIC DEVELOPMENT - Il (12 marks)

Choose the correct answer : Ix]1=3

(a) Which of the following factor is not responsible for the current interest in economic
development ?

(i) Eradication of poverty
(ii) Improvement in the living standards
(iii) Growing concern of the Governments

(iv) Fighting terrorism

Contd.



(b)  Poor people are not able to get loans from the banks because —
(i) Banks are not present everywhere
(i) They are not aware of the loan facility
(iii) They are shy to go to the banks
(iv) Banks charge high interest

(¢) National Consumer Day is celebrated on —
(i) 24™ December (ii) 15™ December
(iii) 15™ March (iv) 24™ March

22. Differentiate between National Income and Per Capita Income.

23. Explain the three forms of commercial banks in India.

24. (a) Discuss the reasons for the exploitation of consumers at the hands of the suppliers of

the product.
OR

(b) What rights do the consumers enjoy under the Indian law ?

DISASTER MANAGEMENT (5 marks)
25. What did the Earth Summit focus on ?
26. State two factors that determine the magnitude of a disaster.

27. What are the specifications of a plan of rescue operation ? Mention fwo points.
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